fSerR &1 FeTr 104 70T - FIfEgeh
(3T, ATTEGRT, Tgeleh, T
IEGEM)

1. 1.U® GRS 3Hids &1 3 Fereq &1 I3 F18?

ITR: 2fx / of

2. 2. AT T HRA & (o4 SHTTRIDH T Icd T Bl 57

ITR: HIHT T SR IDT a1 SRl

3. 3. 950D BIYFA A ?

TR TGP = L + [(f1 - £0) / (2f1 - f0 - £2)] x h

4. 4 DT BT &1 JF R 82

JW: L+ [(N/2-F) /f] xh

5. 5.'f &1 3R I &7

I T D1 SR

6. 6.9 U A0 B T 31 3M1g 81, df 98 I 1 Heardl 82
JTR: IgAD ail

7. 7. 1% 3ifps H 2f = 50 3R 2fx = 1000 §, A NI T GRI?

ITR: 20

8. 8. HIfeIhT ag AT & SN 3 s Bl faba sRISR U | faHTRT Bt 82
ITR: & RIS HIH

9. 9.7fe UH Gifeg® g faarur & ue aif &t 3gfy o |1, dt 9 a7l weardr 6:
IR: e




10. 10. THEAT Mg forares forg TRAFT g1t 82
IR AT ST Jd A & forw

Learn Bseb

Class X to Xl



